— - R
81, C 8 120
o 70F ) =
o Input R0O=45.9, Sig=1.3, kb=0.1 2
< N -
S gof g 100
C o
50;‘ 80
40
r 60
30—
20:_ 40
10F 20
o
—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIII|IIII|IIII|I IIIIIIIIIIII IIIIIIIIIIlIIII
0 10 20 30 40 50 60 70 80 90 %o 30 40 50 60 70 80
WET (mm) RO
- 12000
12000}
. 10000
10000}
- 8000
8000
- 6000
6000}

4000 4000

2000 2000

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII oIIII|IIII|IIII|IIII|IIII|IIII|III

0 1 2 3 4 5 6 7 8 9 10 0 0.05 0.1 0.15 0.2 0.25 0.3
sigma kb



	Contents
	Page 1


